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There are those amongst you that have shown courage and conviction;
something that is sorely lacking in so many of the young minds of today.
Can | say that you will all believe what | have to say ? Certainly not. It is
a reflection of society today that so many do not question yet reject
anything outside of their comfort zone. This forum is the antithesis of
such dower formulaic habits. Unfortunately so many have come to
associate a questioning mind as being synonimous with a disbelieving
mind when in reality a questioning mind needs to be an open mind; a
mind that allows the absurd, the idiotic and beyond credulous ideas to
perculate into the subconscious. It is only when the full bounds of the
ideas have been allowed full roam of all aspects of the mind that the
varacity of the claim can be fully comprehended. All | ask is that you
ponder the essence of my presentation in light of the known
characteristics of the Steven Mark TPU.

| am sure many of you have already perused the given web references
and have already started to believe that this posting is misplaced! Oh ye
of little faith. But it would be remiss of me to leap into my explanation
without first setting the scene of exactly what energy you all are attepting
to harness. In short this energy could be termed nuclear (from this point
on | will use the word density to mean nuclear), but not in the familiar
sense. Matter is nothing more than spherical stationary standing waves
within the travelling ether! Already | hear the shutters closing. It is the
ether that has the energy not the matter; it is the ether that is
manipulated via torsion fields set up via electromagnetic fields; it is the
ether that vortexes and is the essence of the electromagnetic field; it is
the collapsing ether vortex that releases energy. The ether its self
pulsates at extra-ordinary high frequency. It is this pulsing that feed
energy into the spherical standing waves, that is matter, that brings




about all of the characteristics of an atom. A nuclear blast releases a
huge magnetic pulse because the ether has been manipulated into a
self feeding 3d vortex; a vortex that resonates with the pulsations of the
ether. It is the high frequency pulsations of the ether that contains all of
this energy. It is but a fabulous veil infront of the eyes of the public that
density weapons have to use rare, dangerous heavy metals. Nonsense!
Consider this. Ask the layman on the street how it is possible to fill a
bottle of coca-cola at high speed without all the contents bubbling up out
of the bottle; they wouldn't have a clue how this is done. Ask them
however how a density weapon works and they will rattle off without
thinking many of the so called essential working mechanisms. Why is
this ? It is because there is a continuous psychological operation that
permeates this so called knowledge into the community. It becomes so
pervasive that no one no longer questions it. The common knowledge is
bunkum!

Those who are more familar with the intricasies of posting on this forum
may be able to get the picture to appear, if this is within your skills
please upload in a reply message.

http://www.jaysnet.com/666-2005-july27 atomic bomb.jpg

As you can see coaxial wires enter the sphere in pairs. One goes to a
coil to generate electromagnetic waves and the second is a feedback
reciever coil. You'll notice that the entry point of these coils on the
sphere are predominantly equilateral from each other. Those of you of a
keen eye will have observed the apparent excess of coaxial wire used.
Ah ha. It is not excess but precise lengths to ensure pulses are with
precise timing and amplitude. Within the space of the sphere
electromagnetic waves constructively interfere to generate the
necessary 3D vortex in the ether. Constructive wave interference causes
massive build up of ether wave amplitudes within the center of the
sphere. Tune these waves to the pulsation of the ether and the ether will
feed by resonance its energy into the 3d ether vortex. You will no doubt
recall a doubling of wave amplitude causes quadrupling of energy within
the wave. Some of the more astute of you can surely see the parallels
with TPU characteristics. Are you frightened yet ? Steven Mark knows
for sure. So take heed SMs warning about not tuning dead on
frequency! Abrupty remove the generating waves and the vortex
collapses, sending a huge, massive emp pulse propogating outwards
within the ether. The nature of the pulse in the ether is such that the




stationary standing waves of ether (matter) are disrupted according to
interference wave locations. No heavy metals required to do this! unless
the ghastly intention is to also have ongoing decaying poisons.

To resonate with the ether a specific pattern is required. The spherical
propogation of waves means that spherical packing dictates the precise
location of electromagnet coils for optimum control. Review the files at
the start of this posting. Hexagonal spherical packing (HSP) is where
you need to focus. Many of you are unwittingly using face centered
cubic ( FCC ) arrangement of coils. You will have limited success if your
coils are placed according to FCC arrangements.

There is good reason for hexagonal packing as these scientists are
beginning to comprehend.

Google the following terms to understand: iron superconductivity
hexagonal packing

All coils need to point to a central 3D location. If you look at the
hexagonal packing the most basic arrangement is 4 spheres forming a
tetrahedral. Place identical coils orientated so that the poles point to
the dead center of the tetrahedral. You should imagine 3 spheres with
one sphere on top. The top coil (coil A) will be pointing downwards and
the other 3 coils (X,Y,Z) will be pointing to wards the center BUT note
the three coils will not be in a horizontal plane; they will be pointing 30
degrees upwards. Now those of you on the ball will no doubt see why
Bob Boyce, Marinov, GiantKiller et al. have had extraordinary results. In
these designs the coils are pointing horizontal and not angled upwards,
and the top vertical coil is created by wrapping around all of the three
coils. As the vertical coil is not identical to the other 3 this creates
problems which is why DC they feed into this coil; and the other coils
need to be fed with high energy pulses. It is not optimum and neither are
their results. If you set up according to hexagonal packing all coils are
equidistant from each other and pointing towards a common center. You
need only supply correctly phased DC offset square waves of
approximately 300V (levels of OV and 300V not -150V to 150V) to
succeed in creating a rotation magnetic field which in reality is vortexing
ether. Surely | don't need to tell you how to intercept a high speed
rotating magnetic field to create current of high potential!

Now I'm telling you the practical theory on how to use the ether. Steven
Mark never did understand exactly why things worked. His coils are not




optimum but never-the-less indirectly generate what my four coils will
achieve.

Coils XYZ are pulsed at frequency F1 with a phase of 120 degrees
between each coil.

Coil A is fed a frequency of 3 x F1 and has a phase of 0 with respect to
the other caoils.

In other words:

When air-core coil X pulses so does air-core coil A.
When air-core coil Y pulses so does air-core coil A.
When air-core coil Z pulses so does air-core coil A.

The frequency should be a harmonic of the NMR of iron. Do not use iron
anywhere in your device this will only cause huge eddy current
problems. Iron is magnetic because of the geometry and spacing of its
atoms (stationary waves remember) which interact with the ether flow in
a resonant fashion despite what you may already believe! The NMR is
directly linked to this geometric spacing and hence to the resonant
frequency of the ether. If you pulse iron wire at iron's NMR you'll get a
minor resonance effect even if the coil is not tuned to that frequency.
Steven Mark was utilising this effect along with the timing delay action of
iron wire to generate a rotating magnetic field of the correct frequency.
The requirement for coil A to pulse in time with the other coils was not
understood by SM who unwittingly incorporated its effect via interaction
of several coils. A testament of observation over emperical
understanding!

To complete the picture the intercept coil can be an air-core toroidal coil
placed in a horizontal plane halfway between the top coil and the bottom
three coils sized so that the outside of the toroid would touch, but not
overlap, the imaginary planes of the tetrahedral pyramid sides. The
diameter of the toroid hole should be the same as the diameter of the
toroid windings for optimum results but quite frankly you could stick two
solid 1 cm diameter 3/4 circle copper bars into the field and measure
substantial voltage and current.

| trust you'll appreciate the risk you are now all taking. Too many of you
are tempting fate by feeding the output back into the input. Consider
1000 fold output power over input. Oh yes, these are the levels you are
potentially working with. 100Watt goes to 100KW. With no feedback this




is @ major copper vaporising experience. With feedback your momentary
100KW goes to a potential 100MW but more realistically 1MW or less as

aaaaaaaaaaaaaaa

I've shown enough for you to now understand with what you are playing
and a schematic outline of a relatively safe design that will get you the
results that you desire.

I've taken the liberty of posting whilst on vacation. | shall not be returning
to this forum. Good luck.
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It appears | have been too brief in my presentation. | truly believed that
there would be a group here who would be able to make the leap
between the Steven Mark devices you are familiar with and the design
that | showed.

Firstly although this has been mooted | am not Jack. All | will say is the
interview says more about the character of Jack than it does Steven
Mark. | will also add that the SM device uses rotation. | say this without
doubt and Jack is wrong in saying rotation is not necessary.

| will now talk about the Steven Mark designs you have seen in the
videos and the like so you will understand why my design at the start of
this message works.

The SM designs all work on the same set of principles. A pulse into a
coil generates an expanding magnetic field. The magnetic field comes
into being by an underlying patterning of the ether. It is a cascade
action on the part of the ether that causes the EFFECT of an expanding
magnetic field. If you then cause a second magnetic field to expand
through the same space as the already expanding magnetic field, a
specific cascading action, apattern is setup in the ether which is the
EQUIVALENT of a magnetic field and has many of the characteristics of
a magnetic field. By this | mean it will interact with metals, and cause the
EFFECT of a current, IF the field is moving across the metal. | will refer
to this field as a COMP field from now on. But please be clear this
COMP field is in addition to the expected magnetic field. This COMP
field, a patterning in the ether, is dampened and effectively nulled by
magnetic metals. This is why if you are using an iron core in the coils
named control coils you will never get a working TPU.

No doubt this may be disconcerting to many who have fond references
to baling wire, iron wire and the like. | will now digress onto the
circumstance surrounding the initial eureka moment as | understand
them. Audiophiles who frequent this watering-hole will no doubt have
heard of QUAD ESL electrostatic speakers. An essential design element
is the incoming signal is sent into, | believe, 7 or 8 progressive delay
elements. These elements delay the signal by microseconds each time.
As part of experiments, associated with what would become his 3D




special control patents, he was using these delay elements with custom
made bifilar wound voice coils (i.e. air coils) and unexpectedly detected
an anomalous signal on his spectrum analyzer.

Steven Mark created his own delay elements using iron wire after
several years of intermittent experimentation. The technique was to
carefully wrap a bifilar air-coil using copper wire. The longer the length of
copper the better but using identical lengths. The two coils were
connected to the SAME pulse waveforms in parallel so that the magnetic
field is additive NOT cancelling. The delay element was added in series
to only one of the coils that made up the bifilar coil. The delay coil was
made from insulated iron wire wound into an air coil. An oscilloscope
was connected to both COPPER coils. The setup would be pulsed with
a dc offset square wave (i.e. 0 to 20V not -10 to 10V) at the resonant
frequency of the bifilar coils. The tuning consisted of cutting the iron wire
down in length until an unexpected pulse/signal appeared. This pulse is
the kick. | will refer to these tuned bifilar coils as kick coils.

You are privy to the information that the COMP field is nulled by iron.
Those who so wish may like to take some time to fully comprehend the
frustrations of closely packing the delay and bifilar coils together only to
find the unexpected pulse was no longer appearing!!! This is what SM
had to contend. And Jack says SM was not technical. Bunkum!!

From traditional electrical engineering view point the kick coils for a
particular quantity of energy now put out the expected magnetic field but
also put out the COMP field which has effects like a magnetic field. In a
world that excludes the ether, these coils are overunity. If the world took
into account the ether, then the coils would not be thought of as
overunity.

The magnetic field is now larger than expected. All that needs to be
done is to rotate this field in a circle and intercept the field with an output
coil. The captured energy is greater than the input energy because of
the energy apparently created by the COMP field. If you arrange all N
poles of the kicker coils so that they point towards the center and pulse
each coll in turn you will get a rotating magnetic field. There are many
ways to create a rotating magnetic field. A secondary effect of a rotating
field is the entrainment of the COMP field so that the pattern in the ether
is partially additive. A big problem was the iron in the delay coils. It was
found that a large solenoid fed with a DC current to produce a static




magnetic field around all of the kicker coils allowed the kicker coils to be
tuned with the iron delay coils in close proximity.

Intercepting only N poles of the kicker coils means you get a DC output
along with a smaller induced ripple from pulsing the kicker coils.

Feedback of the output into the input was achieved using toroidal
saturable inductor switches. I've copied the picture from other messages
of the inductor switches. Refer to the patent for an example to see how
these switches are used. Early designs used a small magnet to bias the
saturable inductors.

All SM devices had small batteries to power the LC oscillators. The LC
oscillators were used as control pulse currents to the saturable
inductors. To start the process high voltage capacitors were step
charged, this is why the coils took time to start-up! The first few pulses
came from these pre-charged capacitors being switched via saturable
inductors. Part of the DC output was feedback to keep the capacitors
fully charged.

My design shown at the very start of this message thread eliminated the
need for an iron delay coil because the pattern is set up in the ether
outside of the influence of copper metal of the control coils. It directly
allows the COMP field to be generated IN FREE SPACE. By placing the
output toroidal coil within this free space the COMP field is intercepted.
The complete lack of any magnetic materials within this design is what
allows this to happen.

| do believe there are elements of information here that you will not have
been aware of before. | trust this is enough to convince at least some of
you to reflect and ponder more seriously on this material.

http://ntrs.nasa.gov/archive/nasa/casi.nirs.nasa.qov/19820016542 1982
016542.pdf
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This information is not for general distribution on the public forum.

Jason, Earl, Tao




Hello.
Tao, stellar graphics your input was very much appreciated.

Earl, climate change is politicised as you will be aware; how hard is it to
get accurate raw data ? Are we sure we have indentified all of the long
wave cycles that could influence the climate ? Are high order
mathematicians really required on an ongoing basis to simulate shaped
charges to compress a core in the model you believe for density
weapons ? Or would these mathemeticians be required to calculate
complex ether patterns caused by tens/hundreds of coils...

The 3D TPU runs only slightly warm. A comp field induces currents in a
different way than a normal magnetic field. Consider a magnetic field of
a permanent magnet, we understand that field by the effects it has on
matter. Or rather the effects are observed and a model is concocted
that is given the name magnetic field. As the model stands the test of
time it is assumed the model IS the reality. But what is it that happens
around the permanent magnet that allows the space around the magnet
to act in someways as invisible matter ? The starting point to realise is
that permanent magnets create a stable effect in the ether. A solenoid
fed a constant DC current creates a stable effect in the ether. You can
think of this effect as a pattern in the ether or as stationary waves in the
ether. The stationary magnetic field is your starting point. The ether
waves that make up a permanent magnet matter is such that the ether
waves are not contained. They spread out and have influence; they
interact with other matter. lron even if it is unmagnetised will readily
interact with ether waves that are not contained. The ether waves that
make up iron then respond to the uncontained ether waves and in turn
will also respond with outgoing ether waves.

Jason, your experiment with the round permanent magnet on its side
oscillating violently at particular frequencies is an example of this. The
solenoid you used to oscillate will have needed two components. A DC
component that sets up a stable magnetic field, the essential stable
ether pattern. On top of this you will have applied the oscillation. The
oscillation will have manipulated this stable ether pattern to expose the
comp field. At particular frequencies this comp field will have been
largest. Of course the comp field is only a model of the effects of the




patterning that is happening in the ether. You were right in thinking the
schumann resonance was involved. The schumann resonance also sets
up ever changing patterns in the ether. You set up the stable ether
pattern, this interacts with the ever changing pattern caused by the
schumann resonance in a predictable and repeatable way. On top of this
pattern you applied another oscillating ether pattern. At certain
frequencies these patterns stabilise into an oscillation of the ether that
has an effect similar to a large magnetic field.

If you try to use a permanent magnet to give you the stable ether field
you have to contend with the physical oscillation of the magnet relative
to other coils and physical oscillation within the material of the magnet;
this makes things unrepeatable. Use an air core coil that surrounds your
experiements to create within the coil a repeatable stable ether pattern.
The air core coil should be wound using copper and not iron if that is not
obvious. Feed that coil from a stable DC source. A battery is ideal. Do
not use common batteries to supply this coil and other coils of your
experiment. Have a dedicated battery/source for this coil.

Steven Mark did not use permanent magnets for anything other than to
bias the inductor switches to the knee of the inductor switch cores.

WARNING. Be aware that your stable ether pattern coil, let's call this a
SEP coil, has the potential to hold vast amounts of energy within the
ether patterns that you set up within it. These patterns can be stable,
rotating, resonating and so on. Think of the resonant build of energy
within a tesla coil. Disconnect your SEP coil abruptly and you force the
ether patterns to responding in an equally abrupt fashion. The responce
is infinitely variable and its effects on matter equally so. Have some
mechanism to turn the current on the SEP coil down slowly over several
seconds.

In the so named spherics TPU the top coil has a combined function. It is
the SEP coil but it is also used to set up a pattern in the ether with the
other pulsing coils. The angles between all of the coils ensures the setup
of a particular pattern in the ether that is dependant on amount of copper
used in the coils, dimensions of coils, distance coils are apart and so on.
At a particular pulse repetition frequency, dependant on the previous
factors, a pattern is set up in the ether that has the effect of a comp field
model.




Deliberately this spherics TPU requires high megahertz square pulses.
The SEP coil is pulsed to ensure a release of the ether pattern to
prevent build up at low repetition rates. Only at high megahertz does the
pattern caused by release combine with the next pulse to effect the
COMP field. This deliberately puts experimenting into the hands of
people who have some electronics familiarity.

If you were to include another always on SEP coil in the same
orientation as the combined SEP coil but large enough so the whole
spheric TPU could fit inside you would have a working model at 300V
repetition pusle rates as lows as 3khz especially if the SEP coil is
powered by high voltage and high amps. The temptation to route DC
output back into the SEP coil to see-what-happens is almost a given.
What happens is a run away event in microseconds that turns you and
your experiment into shrapnel.

PM From Spherics March 26, 2008, 4:23 AM

I've been told that the oscillating round magnet experiment was done by
marco, so apologies for attributing this to you, Jason. | will respond to
your questions in the next day or so.

In the meantime perhaps you'd like to discuss with Rosphere if your
preference is to work with pulses or sine waves. Pulses are easier to get
a result, the timings of the leading and trailing edge of all pulses is very
important. By altering the timings of the leading and trailing edges you
can compensate for minor differences in impedance of coils, length of
copper in coils, variations in turn compactness - inherent capacitance
and so on. If the relative position of the coils is not perfect this too can
be compensated by the timings to some extent. The downside with
pulses - square waves - is by their nature they have many odd
harmonics which causes effects that cause heating. But with sinewaves
they have to be perfectly formed, timed but the upside is the end result
is a device with no heating issues. If you think about it, it's fairly obvious.
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Quote from EMDevices
Sparks, thanks for reinventing the wheel ®

@ all,
Here's what | think spherics is describing as the kicker coil.

EM
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Iron wire
"delay” coil

Above goes to diagram.
Yes, this is what | described. Thanks for the diagram.

This diagram shows you what is needed to get a kick, and view a kick on
an oscilloscope.

No iron as a core. Wind on a stiff poly pipe. Use copper wire for the
windings.

Keep the delay coil 2+ feet away from the bifilar coil.

Keep the bifilar as far away as possible from your oscilloscope and
permanent magnets.

Pulse with a square wave.

Tune as per previous post.




Someone mentioned about connecting the oscilloscope.
Use two channels and connect two probes, one probe to each coil.
Not one probe across the two coils.

@rosphere

The tetrahedral diagram was to show the orientation of the coils to help
clarify my description.

What is important is the 4 coils are identical both physically and
electrically and

are oriented at the exact angle as per the tetrahedral diagram and

are placed equidistant from the center.

Tao diagrams are spot on and show how for a given size of coil where
you can place the toroid pick up.

Again no iron in any of the cores. (or nickel or aluminium contact wires)
No metal for supports.

@whoever said this

Someone mentioned the Alberto Molina-Martinez device as being the
same. It would appear at a casual glancing at the patent to be chock
full to the brim with iron/steel and other magnetic materials which |
have said ad nausium is a no-no. Also the 3 phase pickup coils use the
same colil structure and location as the 3 phase generating coils. As
soon as the pickup coils are induced they will reflect a pattern in the
ether back on the generating coils and any advantage will be lost. There
are also no pulses timed to cause an overlap of ether waves in the
proximity of the pickup coil nor is there any directional biasing.

@commentor on toroid pickup

You need to wrap your head around some of concepts espoused by
Harold Aspden before commenting on whether the toroid is correctly
placed or of the correct structure. The ether keeps spinning for a
considerable amount of time after the pulses are stopped. If you would
care to consider the angle in 3D where the magnetic fields would
oppose you would observe that it forms at an angle. Transposed into a
rotation this forms a funnel of compression. With a little bit more thought
you may even consider the placement of the magnetic void and again
see that this void would transpose on rotation to form a toroid void. The
persistence of the ether waves long after the magnetic field allows
discrete time separated pulses to merge in their affect on the ether. This




void combined with the rotating pulses cause the ether to spiral. The
spiraling ether interacts with the metal of the copper toroid along with the
vertical direction pulse from the top coil. This cause the ether to not only
spiral round in a circle as viewed from above but also to corkscrew along
the path of the toroid windings. The corkscrewing path of the ether
around the toroid is now in line with the windings. This creates a
longitudinal wave along the copper creating a large current effect in the
toroid windings. Which is what is needed. Given that the toroid is now
generating a magnetic field, outside of the toroid even though you don't
have a magnetic field you stil have ether waves. You'll note the 3
generating coils are symmetrically and equally affected by these ether
waves such that the rotation does not become lop-sided. You'll also note
the top coil above the toroid is affected equally on all sides ensuring that
the pulse from the top coil that reaches each of the three coils is
identical in every case even after interacting with the ether waves from
the toroid.

PM From Spherics March 27, 2008, 4:23 AM

This information is not for general distribution on the public forum.

With the bifilar coils the two bifilar coils need to be identical.
Take a look at this site to see how precise speaker voice coils are
wound, as an example, of precise bifilar winding.

http://www.audiostar.com.cn/asp-bin/EN/?page=8&id=57
See item D.

You can get voice coils made with round not ribbon copper wire without
any aluminum also having a bobbin made of kapton. Kapton doesn't
distort under localised heating.

In an ideal world you'd feed each coil from a separate source capable of
producing square pulses over 150V and then control the pulse timings. If
the coils are identical then the pulses will be identically timed e.g. the
pulse width is the same but the start and end are offet, phased if you
like, by anything from a few nanoseconds to microsecond. If your coils
are not identical then you'd need to adjust the pulse width so that the
difference in turn-on time is not the same as the turn-off time. Although
the turn-on difference is important the turn-off difference is more




important to control because at the time of turn-off you already have
energy in the system. The repetition rate is important and must be
consistent; the frequency must not drift. You also get a much better
effect if the whole coil is also wrapped with another coil and a pure DC
current applied. However if you do this the whole set of coils needs to be
bonded together to stop relative movement between the bifilar coil and
the static field coil. See posting below that explains why to use DC field -
VERY IMPORTANT.

I'll put a diagram together.

Assume identical pulses. Measure the ramp up time on your scope,
divide this by 10. Adjust the delay, phase, so that the second pulse turns
on 10% before the end of the ramp up time. Apply this to your bifilar coil.
Now sweep through the frequencies from 1khz to 3.5MHz. At a certain
point you'll observe very high frequency high voltage pulses that start to
appear. Once you get the largest effect go back and adjust the timing of
the turn-off differences first, followed by the turn-on differences for
maximum voltage and duration of these pulses. If you don't have that
level of control adjust the the overall phase for the best high voltage
effects.

This shows you that ether energy can be accessed but the energy is not
in an easily useful form.

Rotation is the key and using SPACE to control the timing so the effects
occur not in your pulsing coils but in your output coils.

In the example | gave where the iron delay coil was used obviously the
resistance of the iron coil needs to be negligeable compared to the
resistance of the bifilar coils and you need higher volts because you are
substituting brute force for finesse. Indeed different voltage pulses can
be helpful but not if one pulse is 150V and the other is 30V. 500V and
300V would be OK. 300V and 150V would be OK. 1200V and 900V
would be even better. The information from Mannix concentrated on the
generation of this kick so | thought I'd let people know what the
underlying principle of what SM was doing. It's a poor way of getting a
delay and hard to get right.
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Quote from EMDevices

nice work tao, may | suggest you simulated something slightly
different than what spherics proposed? Note that there is no
vertical plane that cuts exactly through the top vertical coil AND
contains TWO lower coils. Why is that? Becasue if you look
from the top, the 3 bottom coils are spaced at 120 degrees.

So you need to simulate just one vertical coil and one bottom coil
(full simulation not assuming symetry), then you will have what
spherics describes. (at least one pulsing instance, where top coil
and one of the 3 bottom coils pulse together)

Anyway, | like the picture, and yes we can see the "voids"
clearly. The real question is what do the voids do, can they
induce a current into the toroid placed at that location? My
answer, NO. ®

@ all,

spherics mentioned the spin after you turn off the pulsing, and |
assumed the gyration of the atomic spins, but let's assume there
IS no mass, like spherics describes, just empty space. The
question is, can you actualy have a true, real ROTATION with
some INERTIA (that can keep it going after the pulsing stops) ?

The answer to this is a bit complicated, since there could be
resonance in the LC circuits forming the pulses, and there can be
observed and deduced that something is rotating (by seeing the
ringing on an oscilloscope) but if this can be snubbed out
instantly, the theory says there is nothing !!! no rotation no
nothing, it dies out instantly. Why? because the rotation is an
illusion, because it is acually a SUPERPOSITION of quasi-static
phased fields, and due to their electrical phasing only "appear" to
rotate. So when these coils stop pulsing, NO MORE FIELD!!!.
Or is there something? If somebody can prove this beyond a
shodow of doubt, that they can trully "spin" empty space, and can
prove that it's not the coils ringing after the pulse stops, then you




might have a shot at stardom.

EM

thanks tao nice image.

The output coil goes here as shown on tao image. My original message
desribed the coil placement as halfway between the two coils. In my
reply to you yesterday concerning why the toroid is correct as an output
coil I again described this positioin in reference to magnetic field lines
which match with tao image. At no point did | say the coil was to
placed at the void like you suggest.

Again with regard to the Aspden Effect | enclosed a comment from
Harold Aspden. This experiment is easy to conduct and verify. You'll
also find that there is a disparity when spinning up a block of aluminum
without any magnets which is even easier to try as an experiment
(disparity of approx. 13-16%). You'll also find the same with nickel
(disparity of approx. 8-12%). With unmagnetized iron you'll also get a
smaller effect in the region of approx. 5% difference.

This author (Harold Aspden) has assembled a motor using disc-shaped
ferrite magnets of the kind used in

loudspeakers, mounted on a rotor shaft and interleaved with electrical
sheet steel laminations

each having eight poles. Here rotation causes the magnets to induce
radial EMFs in those poled

rotor laminations and the passage of those poles past the corresponding
poles of a stator

assembly causes flux pulsation. So we have the induction of a pulsating
radial electric field in

aether coextensive with the rotor assembly, a recipe according to what
has been stated above for

inflow of aether energy.

However, here again, this being an alternative version of a homopolar
magnet machine,

the thought of this ever being a way forward in meeting our future
energy needs has been ruled

out. However, the tests on this motor did give further insight into that
interplay with the aether

and the presence of an anomalous energy gain.

When the motor was first started, spinning at some 1500 rpm, it was




noted that it reached

that speed after switch-on in a period of 20-30 seconds. If it was then
stopped and restarted, its

speed-up time to that speed was some 5 seconds if no more that two or
three minutes had passed

since it had come to rest, but the longer the period waited before restart,
the longer it took to

reach 1500 rpm. It was as if there was something there having a weak
inertial coupling with the

rotor that was spinning separately and slowing down at a slower rate.
Here was what seemed

to be an aether phenomenon.

Before moving on from that research effort several tests were performed
at different

times of day and with different compass orientations of the rotor axis.
The phenomenon varied

with spin axis direction, suggesting that the quantum spin of the aether
has a fixed orientation

in space, a result consistent with the author’s theoretical expectations
dating back to the late

1950 period. This phenomenon has been named ‘The Aspden Effect’ by
Dr. Hal Fox, editor of

the U.S. publication New Energy News, which is why that expression is
used as the title to this

section.




Secure E-mail from Spherics March 29, 2008, 9:03 AM

Hello
Good day gentlemen,

Make sure you download and SAVE the attachment as this is a one view
message. The attachment seems to save with an htm file extension and
being somewhat old in the tooth | can not for the life understand why.
The document is an excel document saved in xml format.

I'm going to be using this method of sending attachments so that they
are delivered to your door, so to speak, in a secure manner. At the end




of one of these secure messages I'll sign off with a name. As an
example with this message 'Fred'. The name Fred with a capital F will be
used as the next password for the next attachment | send. The question
asked will not be relevant, just ignore the question. This way a chain of
security is established for attachments. All you have to do is remember
the name | used to sign the last secure *attachment* message.

| also have an outgoing only email peter.sharp@vistomail.com which |
may use from time to time. Dont reply direct to these emails use the
address you have.

Our email conversations are going to be in the open but without the
attachments they are not going to be of much interest to anybody.

Why am | going to such lengths ? Because quite frankly I'm sick and
tired of having my house broken into. If they feel you have something
worth taking they come and get it. The very last time they just knocked
on the door, | opened the door and they just brazenly walked in and this
is during the -day-. One person stands by you and if you try to move
they place a hand on your chest and push you towards a wall.
NOTHING is said no badges are shown. They pick up what they want
scopes, gens, coils, computers. They all leave without saying a word.
The silence was very disturbing. The whole ordeal took 6 or 7 minutes.
You cant imagine how long that time feels when you don't know what
the end point is. The message is clear. "We will do what we want when
we want".

| have no idea why | suddenly decided to post on the forum it was not
planned at all well. | guess | just figured | was getting old and what the
hell. | only thought it would be a one off post but it's funny how you feel
compelled to reply. Dont drink and drive your computer!

I'm going to try and get the most important information to you first so
you'll know the parameters within which things should work. Without
them it's like pissing in the wind on a freezing day and expecting to turn
around and see you've created a frozen swan ice sculpture!

People I'm in contact with are tao, rosphere, earl, grumpy and jdo300.
Feel free to converse or not as the case may be. I'd appreciate you not
share attachments direct onto the forum or exchange by open email, by
all means convey the ideas as suggestions to forum members by PM or




message postings, to get them onto the right path.
I'll send a standard email to explain the attachment.

Yours,
Fred

Secure E-mail from Spherics March 29, 2008, 12:59 AM

Levels

In this image I've shown a scale from 0 - SOL and vertically the
respective relative energy levels. Rather than divide by 6 as in the
spreadsheet, I've shown for ease of drawing purposes ONLY, a divide
by 3. Divide by 6 is what needs to be used in calcs.

Again for ease of drawing I've shown the division on the top end of the
scale so that you can see the divisions. In the spreadsheet | showed the
divisions calcs for the left hand side, lower energy side, of the scale.
Also for ease of drawing I've shown the energy guide lines (dotted lines)
as being linear, in reality the guidelines are exponential but this is more
difficult to draw.

Moving from left to right you can see how tuning is very tight for a
particular frequency and gives a rapid rise in energy as you tune in.

I'm putting together a word document to pull all this together but it's
taking time and to fit it in.

| have your questions and will get to them in order.
Don't reply direct to this email peter.sharp is outgoing only.

yours, Hamlet
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Secure E-mail from Spherics March 29, 2008, 12:59 AM

The angle from the horizonal place is 19.5, internal angles 109.5. The 30
was a mistake and is the angle when projected onto the plane of a
tetrahedral side.

This is an unfortunate mistake as the angle in this design is crucial. But
there is only one orientation if all 4 coils are to be equidistant from each
other.

The most practical way I've found of getting the angles right is:

http://mathcentral.uregina.ca/QQ/database/QQ.09.00/nishii.html

The easiest way to get the angles right is to realise this. In the above link
look at the second picture down. The verticies of a tetrahedral are
located on the vertices of a cube. The center of the tetrahedral where
you want to point the coils is the center of the cube (point O).

If you build yourself a wooden/polypipe frame with no metal in the form
of a cube you can run cotton from the cube vertices to give a guide to
setup the coils so they point towards the center. Don't try and run it with
your cube frame horizontal and vertical because your tetrahedral need




to be in the orientation shown in my diagrams. i.e. Your cube frame will
have a point down and up.

--->But I'd hold off on your building until | finish explaining how all the
information | previously posted on the forum fits together.<---

E-mail from Spherics to Earl March 31, 2008

This information is not for general distribution on the public forum.
Answers

Hi Earl,

Please accept my sincere apologies for not getting to this sooner.

1- ", are you on Skype - or would you be willing to join us on Skype?

| searched for the name " and there is a user with this name, but Skype
said this user had not been on for a long time.

-->> I'm not on skype. At some point | think we could have conference.

2- With every post you sound more and more like the "twin brother" of
the European Inventor. When you mentioned a time delay between
bifilar windings, | jumped into the forum with a positive post in order to
calm down the negative comments since people respect me. Today your
PM blew me out of my socks since you mentioned using different
voltages, which | had been keeping to myself. Until today you had said
identical signals, so | kept quiet knowing that the European inventor
used both time delay and different voltage on each winding - and
roughly what you suggest using. The TPU and his invention are very
different, but still have astounding similarities. As | understand he is
using roughly 1 MHz clock with 10% duty cycle.

Oh, he mentioned that his output voltage is proportional to the difference
between the two voltages applied to the bifilar windings. Also said
something like 50V difference is the minimum and should not be below a
threshold roughly 350 Volts.




-->>With control coils you want to get the biggest bang for your buck so
to speak. The key piece of knowledge concerning manipulating the ether
is it is not done using magnetic fields!! Now there's a head spin for yer
sonny. It is done by applying the highest voltage tension possible across
the largest mass of copper or other non magnetic metal, with the lowest
non-zero current possible. For the tension to have the required effect on
the copper you need only the smallest amount of current. Your aim with
wire choice is to use the highest gauge for maximum resistance per foot
and to use as much as possible within the space available for the coil.
With gauge I'm refering to AWG not metric where higher metric gauages
are lower resistance. And they say standards makes life easy! Voltage is
cheap, is it not ? So use your cheap high voltage, sequence of rotating
pulse and bias field to spin your ether into a vortex. A large amount of
ether waves due to using a large mass of copper will cause large
amounts of current to appear in a conductor in an induction-like process
regardless of the measureable magnetic field!! which is why | say
induction-like. There are other factors to take into account when
spinning an ether field and I'll cover these in the words doc when | get it
out.

3- When SM mentioned many wires in parallel, | assume he was talking
about HF litz wire. Do you use HF litz wire? In which coils?

-->| don't use litz wire in the input coils. It could be used in the output.
Many wires in parallel refers to the output coil in his flat TPU.

4- | prefer to use quadrature phasing which means 4 + 1 coils, and 90
degree phasing. | don't think this changes things much and don't see
any disadvantages compared to 3 + 1 coils. Do you agree?

-->In a flat situation like SM TPU you will get it to work with 4 coils + 1
SEP coil. With 3 or 6 coils + SEP coil you'll be better able to control the
output. Tetrahedral requires the 4 equidistant coils.

5- Where do you suggest is the best place to put the electronics? Where
not to put ?

-->You don't want them in the location where you are spinning the ether
field. The center is a void.

6- Concerning the toroid output coil, roughly how many Volts per turn do
you obtain ? Or turned around, how many turns to obtain X Volts?




-->It depends on how fast you are spinning your field, how high a
voltage you are using, mass of input copper, and how large the SEP
field is, if you are using one. If you use lower gauge (AWG) wire in the
output coil you get higher current. The volts depends on how accurately
you can place the ether field within the toroid, otherwise you get a
cancelling effect. With an SM TPU you don't have to use a toroid but
thousands of vertical wires, joined series or parallel depending on
whether you want voltage or current to dominate. e.g. 600V @ 1.5A or
100V@9A.

Again with regards, Hamlet

Secure E-mail from Spherics March 31, 2008, 7:05 PM

Coils
No attachment. Just copy-paste this into a text doc for reading.

With the input coils, you want to get the biggest bang for your buck so to
speak. The key piece of knowledge concerning manipulating the ether is
it is not done using magnetic fields!! Now there's a head spin for yer
sonny. It is done by applying the highest voltage tension possible across
the largest ->mass<- of copper or other non magnetic metal, with the --
>lowest non-zero current<-- possible. For the tension to have the
required effect on the copper you need only the smallest amount of
current. Your aim with wire choice is to use the highest gauge for
maximum resistance per foot and to use as much as possible within the
space available for the coil. With gauge I'm refering to AWG not metric
where higher metric gauages are lower resistance. And they say
standards makes life easy! Voltage is cheap, is it not ?

So use your cheap high voltage, sequence of rotating pulses and bias
field to spin your ether into a vortex. A large amount of ether waves due
to using a large mass of copper will cause large amounts of current to
appear in a conductor in an induction-like process -->regardless of the
measureable magnetic field from the coils becuase you have the coils
under high tension creating ether waves<-- which is why | say induction-
like. There are other factors to take into account when spinning an ether
field and I'll cover these in the words doc when | get it out.




To make sure you've got this concept.

10 Watts of input.

10 VA of input.

10 Volts @ 1 AMP

20 Volts @ 500 milliamps
100 Volts @ 100 milliamps
500 Volts @ 20 milliamps
1000 Volts @ 10 milliamps

You need a static magnetic field (bias field) for the rotating ether to
interact with. You rotate the ether extremely cheaply at the appropriate
speed using cheap to make high volts, bearing in mind the previous
documents | sent. | know | still need to explain the documents. Now the
static magnetic field needs to be a standard magnetic field, not an ether
field, so this coil needs to be fed relatively low voltage at a high amp, as
per normal magnetic field generation from a coil.

----> DO NOT USE A PERMANENT MAGNET FOR YOUR BIAS FIELD.
IT WILL IF YOU HIT ON THE CORRECT ROTATING PARAMETERS
EXPLODE INTO THOUSANDS OF MINUTE HIGH SPEED
PARTICLES. <----

As always no iron to be used in cores.

If you use high voltage plates as a bias field OR wind the SEP coil, bias
coil, as per an input coil and feed high volts, low current then you start to
work with predominantly the ether fields, which leads onto cold electricity
generation. To extract cold electricity requires maintaining geometric
relationships between position, mass and volume encompassed by all
the individual components. Depending on your luck there will always be
a cold electricity component to your devices which manifest in the device
not running so hot. As you get nearer to the right geometries the device
runs cooler.

Again yours, Hamlet




Secure E-mail from Spherics April 1, 2008, 12:01 AM

Voltage levels for input coils
Copy message and attachment.

With the sine wave you can get away with the offset from OV to be less
than 50V. But it absolutely cannot go -ve on a regular basis even for a
fraction of the wavelength. The odd glitch is OK.

With the square waves it's more crucial to be over 50V preferably much,
much higher into the 400-500V and the corresponding high of the
square wave moved that much higher.

Choose to use either pulses or sine wave not both. The pulses are into
the input coil described in the last message. IT IS NOT BIFILAR.

By DC offsetting the waveform you don't need to use a bifilar but you do
need a sep coil that goes around all your coils.

The bifilar is what SM was using. Because he didn't have the equivalent
of a SEP coil powered from the start, the initial output from his output
coil was small. He then fed part of this back into the TPU (VERY BAD
IDEA) and had it wrapped around every input coil. This puts a SEP coil
around the bifilar. The combined effect of the bifilar and SEP around the
coils gives the same effect as you'll get from applying the waveform in
the diagrams to one input coil. He also had the equivalent of a main SEP
coil but with only 4 turns around the toroid. He connected an input coil
then wrapped right round past the input coil and connected to the next
input.

Your SEP coil wants to be a constant DC voltage and current that never
varies via feedback. You set the level manually. This sets the TOP level
of possible power you can extract. Even with non drifting pulse rate
there are factors that can move you into an unexpected higher level of
energy in an instant. If you're feeding back you won't catch it in time
before more energy goes into your SEP coil and you move up another
energy band. This is the runaway event.




The next you might find hard to believe but it what we have found out.
Factors that detune the device and move it into another energy band are
time of day, whether it's day or night, the longitude position, the lattitude
position has no affect, and humidity. Which reminds me, on the
radioshow Jack recalls how uneducated Steven must have been to try to
cool his device in water. He was not cooling the device. The speed of
light in water is 25% less than in a vacuum. Anything placed near the
edges of the coils immediately change the tuning and how well behaved
the device is. It would appear to be a logical step to see if it calmed the
tuning variences down. BUT THIS IS A BAD IDEA AS WATER IS A
POLAR SOLVENT AND CAN CAUSE BAD THINGS TO HAPPEN. Oil
burns as is not a good idea either. We tried setting the whole TPU in an
acrylic block and the block went opaque with millions of crazy paving
lines.

Out of time for tonight. I'll put a diagram together tomorrow of SM coils
and connections for one version of his device and another diagram of
the optimum way of setting out your coils for a flat SM TPU device.

The tetrahedral version was for public consumption and had no
continuous ON, SEP caoil. If you try to drive COIL A on permanently the
design doesn't work.

Yours Hamlet.

Figure 11a  Sine Wave Input Figure 11b Square Wave Input
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E-mail from Spherics to Jason April 1, 2008, 5:18 PM

Do you mind if | forward your question and this reply to the others ?

It's a good question but you need minimal current. We tried what you
suggested. Even if you drive open ended at resonance it doesn't have
the effect on the ether that is required.

The system works by getting the maximum advantage from the largest
mass of copper. The quantity of copper is important. Double the amount
of copper, double the effect on the ether. Yet the amount of energy you
need to supply has not doubled, it's stayed the same. Current flows in a
wire only after an ether effect has rippled through the wire and out into
the air surrounding the copper wire. Only after this has happened can
current flow, which is another ether effect, then you see the typical
inductor responce, as the magnetic field builds. But realise that this
magnetic field is a secondary responce on the ether that has already
been affected.

The higher the voltage the larger the ether effect. The more mass the
larger the ether effect. But you have to have the current, as the current
is the natural responce to you having applied the high voltage in the
correct way.

---->>>The initial ether responce is Tesla's radiant energy.<<<----

---->>>T0 minimise the current that subsequently flows you can't use an
inline resistor, it has to be the natural resistance due to the length and
gauge of copper wire used.<<<<----

No doubt you've read about Tesla's radiant energy experiments where
he obtained heating, cooling breezes, stinging rays that penetrated
everything, light effects and more. If you apply a square wave of the sort
I've shown where the lower voltage is over 500V and the top voltage is
over 10KV you get these affects and much more, from 6khz through to
100khz. The length of wire in your coil needs to be long enough so the
resistance of the coil is high enough that 10KV is not going to allow
enough current through the wire to vaporize it. We used a capacitor
bank and pulsed through a chain of 6 sat core inductor switches. Even
using only one sat core inductor switch you can get stinging rays and




cooling breezes. But you need a tighter pulse more defined pulse for the
other effects, which the chaining of the sat cores does. The forum has
mention of an example patent. Your capacitor charging network doesn't
have to be sophisticated because once you've charge your cap bank the
amount of charge required to keep it topped up is minimal because your
current is minimal. The 500V level, via cap and charging network
doesn't need to be switched; it's always on but isolated via diodes from
the 10KV which is switched over the top of it.

>Hi Peter,

>

>Thanks for all the info. I just now realized that | kept replying the
>the wrong e-mail address, lol. Anywho, | did successfully receive the
>last attachment you sent, it was very helpful for my understanding,
>thanks. | know you are still preparing more information to send but |
>thought i would ask you if (since the system works using voltage and
not

>current), if we could actually drive the coils open-ended to get the
>large voltage swings without wasting current?

>

>Thank you,

>Jason O

E-mail from Spherics to Jason April 1, 2008, 7:21 PM

In the tetrahedral you put the electronics underneath 1 foot or more, all
the angles work together to make everything happen around the output
toroid.

| know you want to build stuff but hold off from too much design. I'm sure
| mentioned last week that the tetrahedral is for public consumption. |
have a better design FOR YOU ALL, much easier, more controllable, but
potentially MORE DANGEROUS, but ONLY because of the temptation
to ramp up power to the SEP coil either by manual choice or because
you decide to feedback output into the SEP coil. | KEEP SAYING THIS
BECAUSE IT IS SO IMPORTANT. The SEP coil controls how much
power you can potentially access. Keep the volts and amps going into
the SEP coil, rock solid stable and constant regardless of what output
you are getting. This keeps everything safe and stops an avalanche or
runaway event. Steven used feedback because he was convinced this




was the way to convince investors. The understanding on the SEP coil
as a concept and what it does, came much later.

In the design I'm going to give you, you can have the electronics 3-4 feet
away from the outside of the coil. Steven's designs created lots of
magnetic noise because he didn't know what things in his coils were
doing what. He attributed unstability and power surges that were due to
the time of day to electronic malfunctioning. For a standlone package
the center is where you have to place the electronics because you can't
place them next to the coils. 3-4 feet away will be fine for a test bed
situation and because you will be doing things with no iron, minimal
number of coils, correct circumference, controlled SEP coil, correct
speed and so on.

For each pulse you need a control to adjust the delay of the leading
edge and another to control the pulse width. So for the 3 rotating coils
you need 6 independent adjustments available in total. The 3
adjustments are on top of 120 degree phase between coils. Use 3
continously charged capacitors, one for each coil, for the voltage source
for the upper square wave level, and three more continuously charged
caps for the lower level. The lower level must be continously applied to
the coil. You can't switch one followed by the other because you'll glitch
down to zero, on a regular basis, which destroys all the ether patterns
you are trying to build up.

>Hi Peter,

>

>/ was just talking to Tao this afternoon and he shared with me the
>letter you sent to Earl that was talking about the issues with the
>control circuit being in the 'void' of the rotating field. | wanted to
>ask you about this as well as some basic details about the control
>circuit itself.

>

>1. I've been designing a DDS controller circuit that can output the
>three frequencies for the coils (and also the forth 3x frequency by
>combining the first three). My PCB runs on two 9V batteries with the
>digital circuitry being galvonically isolated from the output stage,
>which, at the moment is just a set of IRF840 MOSFETs which can
pulse

>either from the on-board 18V supply or an external voltage source. |




>have not began to do the board layout but I'm a bit concerned about
how

>large the final circuit board will be and if it would be able to fit

>inside the 'void' of the field.

>

>| remember Steven remarking that they had to put the control unit on
the

>inner edge of the TPUs to keep them from being tampered with by the
>rotating field. One thing | am wondering is where the control unit would
>need to be located in your tetrahedral design for it to be save? If it
>can be located outside away from the unit, how far out does the
rotating

>field extend away from the unit?

>

>2. This question relates specifically to the output stage that drive the
>coils. | can definitely see what the requirements are from looking at
>the waveform image that you sent us in your last letter. | so far have
>been trying to think of the simplest way to produce the 400V square
wave

>to drive into the coils. If possible, could you give me any tips on the
>best approach to this problem? | have thought about using something
like

>an avalanche pulser circuit, though that design would be limited in
>frequency range (I think 100k max for most transistors). A second
>thought was to use two N-Channel MOSFETs in a push-pull
arrangement with

>one tied to a 400V supply, then the coil could be driven capacitively
>(or directly depending on how the biasing is done. A third thought was
>to go with a saturable reactor or pulse transformer to make the HV
>pulses with a lower voltage input on the primary.

>

>My concern though is that whatever | come up with may need so many
parts

>that it becomes difficult for the control board to be economically small
>enough to fit within the toroid/ tetrahedron. | would be very interested
>in knowing how you and Steven accomplished this feat! This has been
an

>excellent learning experience for me.

>

>@God Bless,

>Jason O




E-mail from Spherics April 2, 2008, 7:08 AM

Attachments not working again on previous messages. | must find out
what I'm doing wrong here. Sorry about all that.

Waveform A. This is the ideal situation where no tuning is required.

Waveform B. This where coil2 timing needs adjusting. But this is difficult
to achieve when using clock, counter, steppers or the like.

Waveform C. This is the practical way of adjusting the timing. Delay coils
1 and 2 and adjust the width of coil 2. This is equivalent to Waveform A.

This refers back to a previous reply to J. concerning the need of 2
adjustments per coil; delay and pulse width.

all the best, Rosemary.

Figure 4 Tuning for 3 Coils
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A. Ideal Situation. No tuning required.
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B. Tuning Required
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C. Practiéal Adjustment




E-mail from Spherics April 2, 2008, 7:39 AM

Thanks for pointing out the mistake.
Text for waveform C should read as below:

Delay coils 1 and 3 and adjust the width of coil >> 2.<<

E-mail from Spherics April 2, 2008, 11:30 AM

Hi,

In order to give you wire gauge, wire length, and coil size specs. | need
to know what voltage you feel comfortable working up to. The timing and
parameter diagrams give you an idea of what timings and amplitudes
are required. The design requires the pulse version not the sine wave.

At a minimum for the design | need upper 1200V, lower 900V. At a push
the lower could be 500V. Better is 2500V, lower 900V. Or are you
comfortable and familiar with safety precautions to go higher ?

Peter

E-mail from Spherics April 2, 2008, 7:04 PM

RE: Pressure Preference

Special wire is not needed, with regards to mag. wire and withstanding
600V, it's the volts difference per turn that is important. Inductance of a
coil increases with the square of the number of turns; high gauge - large
turns. A brooks coil will give you the highest inductance for volume. The
small duty cycle and frequency will be set so the current rise is not
greater than the wire spec. We're not interested in building the magnetic
field, only in setting up the required ether waves, which appear just
before current flow. With the lower voltage level this is obviously a DC
level and so current is determined by resistance of the length of wire. |
was discussing only yesterday what diameter of TPU would be most
appropriate for your build. Approx. 3 foot diameter means there is plenty




of space for the coil sizes required for the resistance to be high enough
for the DC 900V level. A wide diameter makes coil position tolerance
less critical. Size does not determine danger, SEP coil power
determines danger, and speed of rotation. At smaller sizes under 1 foot
diameter, the volume of wire becomes too large to fit, and still get the
resistance. At detriment to output efficiency the lower voltage can be
dropped to 50V. Alternatively a seperate SEP coil can be wrapped
around the coil in higher gauge wire and powered by DC separately.
This would mean your square wave could be 5V to 1200V with the
equivalent of the 850V field provided by the seperate SEP coil. | hope
you realise the DC offset level is the equivalent of a SEP coil around the
input coils ?

Powered by battery.

><IDOCTYPE html PUBLIC "-//W3C/DTD HTML 4.01
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><html>

><head>

> <meta content="text/html;charset=1SO-8859-1" http-equiv="Content-
Type">

></head>

><body bgcolor="#ffffff" text="#000000">

>Peter,<br>

><br>

>[ hear that it is the current that kills.&nbsp; | am willing to work with
<u>whatever

>tension that you specify</u> in your design.&nbsp; If caps are used
then

>they must be discharged before nearing the device.<br>

><br>

>/ do hope that you plan to release a circuit that will allow us to

>create the desired highest tensions while also providing the required
>fine tuning control.<br>

><br>

>(Jason said the other day that our typical mag-wire can only withstand
>up to 600V.&nbsp; | will wait for your design specifications but he will
>most likely be asking you about this and if we need special wire.&nbsp;
/

>have a feeling that our low current, high frequency, and low duty cycle
>will mitigate this 600V limit.&nbsp; Or, maybe you will specify special




>wire.&nbsp; Again, | will wait to see what you propose before asking
any

>further.)<br>

><br>

>But, for now, "do your worst," with regard to voltages. <span

> class="moz-smiley-s3"><span> ;-) </span></span><br>
><br>

>Thank you,<br>

>Mike<br>

><br>

>...sorry, | can't wait to ask, will we be powering the device with a
>battery; | hope that we will not be using the mains ?<br>
></body>

></html>

Secure E-mail from Spherics April 4, 2008, 1:47 AM

hello
Hi,

Preliminary parameters are on the enclosed attachments. Although
there are 6 input coils you can use 3 if you wish. Or use 6 and pulse in
pairs.

| added a separate SEP coil to each input coil to replace the 900V level
to keep the length shorter and therefore volume of input coils so
diameter of unit to build is reasonable for you. This means pulsing with
simple HV square wave. 0V - 1500V. | still need to calculate diameter,
inductance of input coils, number of turns, wire gauges, length of wire,
pulse width and so on, so that it all fits in the space available. Position
and size of all things is very important. Pulse width needs to be fixed
across frequencies. Parameters | hope to make these to you on the
weekend.

The gray circles are placement guides and not coils. The input coil
SEPS are connected in series. This is horizontal control. The MAIN SEP
and CB SEP are vertical control. These coils need to produce standard
magnetic field therefore low voltage. Adjust current to adjust magnetic
field and gives control to power potential of device. The input coils emit




little magnetic field but emit ether waves that alter the ether waves that
make up the static magnetic fields form the SEP coils. The interaction
causes a real ether rotation to occur rather than a pseudo magnetic field
rotation. The ether rotation once started takes time to wind down. The
interaction of the rotating ether with the copper of the TOC produces an
induction-like effect in the TOC turns. Ether in centre rotates slower than
ether on outside.

| have appointment to make will add more later for more explains of the
working on everything.

All the best, Charles.

Build Diagram 1. Geometry / Ratio for Input Coil

Air coil

No metal core.
Copper wire.
NOT bifilar.

Green coil has ratios for maximum
inductance for wire length. Known as
Brooks Coil.

Green coil uses high AWG, thin wire,
for maximum resistance.

Green coil likely to have 1000+ turns.
Green coil is high volts, minimal
current.

Green coil inductance not changed by
current in wire.

Blue coil is a SEP coil.
Blue coil to use much lower AWG,
thicker wire, for lower resistance.

e Blue coil is low volts (12-50V), higher
L=0.025491cN uH  p current.

L=0.0169%4aN?uH

Inductance cale for Brooks coil

An input coil with own SEP will be called a
CONTROL COIL UNIT (CCU).




Build Diagram 2. 6 x CCUs - 2xSEP - 1 xTOC
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E-mail from Spherics April 4, 2008, 1:54 PM

Correction
| was rushing and made a mistake in the last line.

| said "Ether in centre rotates slower than ether on outside". It should be
the other way round.

The main SEP and CB SEP have magnetic fields in opposite directions.
That is North is on top of one and South is on top of the other. This
reinforces SEP inside toroid where CCU are, but balance each other
within the hole of the toroid creating an artificial void where there is no
vertical SEP.




E-mail from Spherics April 5, 2008, 1:44 AM

RE: Some questions from Earl

Hi Peter,

>

>I'm sure you are probably busy answering our questions so I'm not
asking

>anything else for now. But Earl wanted me to pass these questions
along

>to you (He was headed out the door and will be gone for a few days):

>1- | have always thought that rise + fall times were very important,
>perhaps the most important in order to shock the aether. Now, | could
>use an isolated 12V supply and drive 3 FETs into 3 identical car
>ignition coils to order to generate 20 or 30 or 40 kV pulses. However
>these pulses would probably not have the fastet rise times nor would
the

>ignition coil be able to keep the voltage as the excitation frequency
>increased. Perhaps a modified TV horizontal transformer might be
useful

>to generate the HV pulses?

>

>your comments?

>

This is the way we see things:

Everything is ether. Elements are a stable pattern in the ether. The
oscillation of the ether as a whole allows the patterns to continue. It
provides the energy to keep spherical ether patterns continuing whilst
allowing those spherical ether patterns to also emit ether waves. All
elements emit ether waves.

You apply a voltage across a conductor. Ether waves are propagated
from both ends at the same time. As they move through the copper the
ether waves that the copper is made from cause further strong waves to
move out from copper into the ether around it, (This is the ether shock




wave), whether or not that ether is patterned into the elements of what
constitutes air.

The ether shock wave is NOT the magnetic field. The ether surrounding
the copper, could be ether patterned into air, or ether patterned into
insulator, or just ether. This ether interferes, if you like, with the shock
wave, and causes subsequent ether waves to affect the ether waves of
the copper. It's a cyclical interaction that settles to a repeatable pattern
of interaction. Once the repeatable pattern is established even though
you still have the same voltage across the conductor the wave from the
copper is effectively attentuated and goes into building this repeatable
pattern. PART OF the repeatable pattern is the magnetic field. All these
waves are longitudinal.

A SEP coil generates a stable repeating pattern in the ether. An ether
shockwave travelling through this pattern causes this stable repeating
pattern to alter. As the shock passes the pattern reverts but in a finite
amount of time. If you send out another ether shock before the pattern
reverts completely, and from a different location, you can now
manipulate the pattern, expand the pattern, or cause the pattern to
rotate around in space. Even if this pattern does not manifest in a way
that we measure as a magnetic field, it can still interact with copper to
produce a current like effect.

The amplitude of the shock ether wave depends on the physical amount
of copper the ether waves from both ends of the copper coil travel
through and on the voltage applied across the coil.

Let's say it takes 10 units of time to form the repeatable pattern from the
application of the HV pulse. If the HV pulse is 1200V but has a rise time
of 60 units, in 10 units it will only have risen to 200V. (10/60 * 1200). In
affect you are only creating an ether shock wave with 200V. This is why
the rise time needs to be as sharp as possible. The trailing edge needs
to be as sharp as possible so that the total pulse width from start of
leading edge to end of trailing edge is as short as possible, to minimise
the rise in current so only a very small magnetic field is generated.

Car ignition coils are not going to do much more than 500hz before the
volts tail off. sparks per second = (7000rpm * 4cylinder) / 60 =~ 500Hz.




Modified TV horizontal transformer will certainly get you the volts, but
you want constant pulse width in time, not percentage duty cycle, across
frequencies.

>2- What stresses aether the most? Is it the voltage, the length of the

>coil winding, the rise time, the speed of rotation, mass of copper, or
???

See previous answer. Rate of ether shock pulses in a circle on a
magnetic field generated from a SEP(s) will have different effects at
different speeds. At some speeds the ether pattern generated will not
induce current like effect in copper wire as well as at other speeds. That
is why the energy graph | gave you is trending upwards with speed, but
within the trend has peaks and troughs.

>Is it possible to say the voltage causes the most aether stress by far,
>with all the other factors far behind, or ???7?

The shock wave comes from the copper. The HV causes the copper to
generate the shock wave. + previous answers.

>

>3- can you explain what a "tighter" pulse is ? one generated by
>multiple sat core capacitive discharges. Does this mean smaller pulse
>width, faster rise time, or something else?

Faster rise time, faster fall time. Time spent at top of pulse should be
only large enough to generate a feeble magnetic field. Straight up,
straight down. I'll send a diagram.

>

>4- Do we forget about everything we know about RLC circuits and say
use

>the finest wire with a thousand turns because we are not dealing at all
>with classical RLC theory, nor traditional resonance?

Only for input coils. The input coils are about shocking the maximum
amount of copper with HV and insufficient current to vaporise the wire
plus a small magnetic field.




>

>5- Is aether better shocked with fat coils or long and skinny?

>Does it make sense, for example, to make the coil length equal to the
>diameter times the golden ratio Phi ?

To be able to apply the voltage and remove the voltage before the
current rises too high requires the highest inductance possible BUT
WITH AN AIR CORE. Can't have other metals in the core.

>Thats all of it :-).
>

>God Bless,
>Jason O

E-mail from Spherics April 6, 2008, 4:23 AM

RE: PVC Base?

You don't want to use PVC as it's a polar plastic. It'll heat up at certain
frequencies. It can also contain lead which you don't want as it's a metal.

Non-polar plastics such as high density Polyethylene (HDPE) are more

suitable. It also has a low di-electric constant, high insulation properties.
When it comes to support structures polyethylene pipe can work rather

than PVC pipe.

Secure E-mail from Spherics April 7, 2008, 1:06 PM

Practical Build Diagrams
2 attachments + this text.

Rosphere did some CAD drawings of possible support structures and |
realised | hadn't told you something that is important.

The inside needs to be as empty as possible, that is filled with air, as




opposed to being filled with plastic support structures. At the same time
the coils needs to be located securely, rigidly and in the correct position
and orientations.

The uninsulated toroid output coil on the SIDES needs to be exposed
directly to the inside of the toroid where the input coils are without any
insulation tape or the like in the way.

There is also a few more notes on what is important in the ratios.
Basically horizontal distances are very important, vertical distances not
SO important.

Derrick

Figure A—Practical Support Structures
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Figure B—Practical Support Structures

Soft silicon tubing, Different cross section

Sliced down length. _ from above.
Makes toroid winding easier.
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way: 1/2x
Coil rigidity is very important.
Pomt“llg al cenlre 15 very impor- MAIN SEP and CB SEP are wound
tant. Placement very important. . on HDPE pipe and slotted inside
Teflon tape on sides and over toreid
but not the top. :
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HDPE Board This shows how to bind all three pieces of the device together, toroid and 2
SEPS.

Take another two pieces of HDPE board.
Cut round slots in board for the HDPE pipe to slot into.
Use spacers to allow top & bottom HDPE board to press against toroid unit.

Deoing things this way means you can get at the input coils by only unwinding
the toroid output coil.




E-mail from Spherics April 8, 2008, 2:16 AM

Mistakes and Fixes

| agree the CCU diagram is confusing. The SEP is only one or two
layers on top of the coil. | was trying to show using a larger gauge wire.
The diagram with C, A marked on it, was taken from the internet and the
SEP added ontop. A brooks coil can fall away from the 1:1 on the space
occupied by the windings without losing too much self-inductance. The
calcs used for wire length add 10% for enamel and 15% ontop for
imperfect winding. After winding the length you'll find there is normally
room to add the SEP. If not lose 50ft of wire but do this for all input coils
so they are as close to the same as possible. Similarly when you buy a
bobbin, buy on the outside dimension of 1:4 so it will fit in the space
available. As long as you still have a length over 1000ft, as high a self-
inductance as possible, and as near identical coils as possible you can
play around to make things fit within the 1:4. ***It has to fit in the location
marked, which requires 1:4.***

Thanks for picking up on this mistake.
D9 was supposed to refer to C9, making the constant OK, as C9 is 1.5X.

You are right in diagram 2, CCU distance from center should be labeled
as X.

thanks for pointing these out.
Peter.

>Hi,

>

>Just had a couple questions comments...

>

>In build diagram 2 it shows the CCU as having a height and width
>of

>X and a depth of 1/4 X, which comes out to a ratio of 4:1. Those
>are the ratios of the Brooks coil, but according to build diagram
>

>1, the ratio of the Brooks coil with SEP on it is 5:1, because the
>




>SEP changes of ratio of height/width to depth. The addition of the
>

>SEP in build diagram adds another 'c' to the length, so that is
>why

>itis 5:1. | did some research and the Brooks coil can be slightly
>

>off and the L remains relatively intact, perhaps that is why you
>said this in your recent email "4:1 Coil ratio is important to the

>

>extent of being a Brooks coil. But this has a fair amount of
>leeway." Could you set me straight this, the seeming ratio change
>

>with the addition of the SEP to the CCUs?

>

>Another thing | noticed was in the coil calcs xml, in cell C10,
>the

>'constant’ for the calculation of the inductance of the Brooks
>colil, it has 0.016994, but | think it should be 0.025491, because
>

>based on how | see you calculating the inductance, you seemed to
>be

>using the 'c'in your calculations for the cells in column N and
>0,

>and not 'a' in your calculations. Just something I noticed, |
>realize it doesn't affect anything severely, | just thought |

>would

>point it out. If  am wrong on this, please excuse me, | must have
>

>seen it wrong then.

>

>0Oh, one more thing, in build diagram 2, you show "CCU distance
>from

>centre = 1 1/2 X", but looking at the diagram in the build diagram
>

>2, it seems to show that this value should be 1 X and not 1 1/2 X.
>

>If you could set me straight on that too.

>




E-mail from Spherics April 8, 2008, 2:26 AM

Calc Sheet

| need to recheck the calc sheet. | rejigged it from an existing sheet. I've
just noticed the two are not same, so there must be another mistake in
the sheet | sent you. Will send a revised sheet out ASAP.

E-mail from Spherics April 8, 2008, 2:50 AM

Cell B6 should read 3/8X and formula in C6 should be changed
accordingly.

Therefore AWG for coils is 32 or 31.

I'll resend out the sheet in the next day or so, having some more checks
against other sheets | have.

Secure E-mail from Spherics April 8, 2008, 1:58 PM

Corrected coil calc sheet
Attached excel sheet.
Hi,

| corrected several errors to do with constants and wrong cell
references.

If you are using double depth enamel then you need to add an extra
10% to the enamel calc. column. I've added a thick bobbin side
adjustment if the bobbin you're using has unusually thick sides but the
15% winding compensation is normally more than adequate.

The main change variable is now X. I've created a green summary box
of final numbers for AWG 28,29,30 as these are reasonable diameter for
handwinding. You can of course use higher AWG but it's a real pain
handwinding even if using a lathe or variable speed drill.




If the wire comes in 1200ft reels then adjust calcs to 1200ft!

The SOL diameter should really be near to one of the diameters in the
lookup sheet for optimum performance and tuning but at this size you're
probably better off picking X so that you can place and locate your coil
and toroid output coils accurately.

Boris

E-mail from Spherics to Mike April 11, 2008

>|s it bad to use lacquer or epoxy on the brooks coils? | was hoping to
>lacquer/epoxy them up as | was winding them and then remove the
spool

>material after curing, thinking that this would increase the air
>quantity inside the toroid and reduce the amount of material between
the

>Brook's coils and the vertical windings. Besides, | can not seem to
>find a test that can be done to differentiate polar material from
>non-polar material. Who knows from whence this spool matter hath
come?

I've used commercial bobbins without a problem - there is not a lot of
plastic in them. I've used transformer laquer before; it will work OK. At
high voltages you need to handle the wire with latex gloves or similar so
not to get acid from skin on the wire which will compromise the
insulation at high voltage. Never used epoxy so don't know about this.
Could be an issue keeping the coil to size, and keeping each coil the
same size, same mass of copper (same length of copper).

Personally | wind 5-6 layers and then one layer of PTFE tape, plumbers
tape, to hold in place. Once all done | weight the coil and measure its
resistance. | leave 5 feet of wire to connect the coils to a connection
block away from the device. The next coil | make to the same weight
and check resistance is pretty much identical, both being a good proxy
to length of wire. It also means you can pull apart coils to reuse the wire.
With laquer you will won't to up the insulation percentage by at least
10%.




>|t seems to me that the lookup table is primary, while the coil sheet is
>secondary; based upon the first. The lookup table seems to be giving
>diameters based upon the speed of light and some masterful
harmonics

>calculations, the likes of which | am not worthy to gaze eyes upon.
Why

>go to all of this trouble if we are not supposed to use one of these
>dimensions in the design somewhere, but where?

The SOL sheet is to show you that these devices are accessing energy
way down in the scale of potential energy and for your later use in your
research.

| realise | never sent out an explanation concerning the lookup table. I'l
do this soon. The diameters in the lookup sheet are the ideal SOL
diameters for a toroid device. If you use these diameters then patterns in
the ether reinforce each other. The nearer you are to one of these
diameters the less energy you need to put into the device. In the first
coilcalc sheet you change the SOL diameter and everything else
changed around it. The SOL diamter is the diameter from this sheet. The
SOL diameter is not the diameter of the toroid. The diameter is 3X as
per the diagram. In the correct version | changed around the input so
that you could choose X. This means you can choose X around the
dimensions of the bobbins you are able to find. As getting the coils in the
right position and having them more or less identical it made sense to
choose 'X'. If you can also choose X and get the SOL diameter to near
one of the lookup values all the better.

Obviously you can keep dividing by 6 each of the intervals and find a
SOL diameter that exactly matches with your chosen X. How far down
the levels of dividing by 6 determines the potential amount of energy.
But even at the very lowest of levels there is a huge amount of energy.
Small amounts of energy are not going to be your problems, just the
opposite.

>The diameter that you highlighted in cell E45 of your lookup table,
>5.18", represents the OD of the toroid, the OD of the brooks coils, or
>something else?

>What of the other diameters, 1.73, 3.45, 6.90,...10.36, how do these
>relate to the build diagram?

>You used X=3" in the coil sheet, should we change this value to one of




>these diameters in cells E43~E48 of the lookup table?

No, pick X for convenience to match the bobbins you can get. This will
change the SOL diameter cell. It is this cell that is used to see at which
energy level your toroid will lie, by using this value in the look up table. If
you have resources to make everything with a CNC machine to precise
tolerances then you can work to a SOL of choice. If not pick X so that X
and 1/4X are easy to measure values. 3 inches and 3/4 inch are easy to
measure. 2.891324 inches is not so easy. And the SOL is near to the
6.9 in the lookup table.

>Rosphere

Peter

E-mail from Spherics to Jason April 12, 2008 1:42 PM

Hi Peter,

>

>| haven't heard from you in a couple days so | thought i would go
ahead

>and post my list of questions that I've been stocking up on from reading
>your recent e-mails:

>

>1. Referring to the SEP and CB SEP coils, could you give us any rough
>specifications on the size wire/ number of turns/ current input that we
>should use? Is there any threshold B-field strength that we should
know

>about when adjusting it?

There are a number of things that are happening with these SEP coils
which | have yet to explain.

Ether pulses are emitted from the input coils which you may like to think
of as charged +ve and -ve patrticles, or perhaps encapsulated
waveforms of very high frequency. If they hit a copper wire a flow can
occur on the surface of the wire between the wire and the insulation of
the wire. The insulation seems to improve the flow of the charge to the
plates. If a positive 'particle’ hits the wire, for the flow to occur there
needs to be a plate of the opposite charge connected to the wire. This




flow is cold electricity. Plate of opposite charge means using a capacitor
or battery. The cold electricity on hitting the plate has a charging effect.
The amount of equivalent charge that appears on the plate is dependant
on dimensions of the plate and insulation on the wire. Neither of the
former we can easily control with off the shelf parts unless you like to
make your own capacitors/batteries. But in a SEP coil which is
connected to the battery we have both positve and negative plates. This
means we get a flow through the coil of cold electricity. This has three
effects. The coil remains cooler than expected for the normal current
flow; the battery charges up to some extent; and we believe the
magnetic SEP pattern changes in a subtle way, due to this cold current
flow, because the nature of the current output changes. The nature of
the output can be seen in a incadescent bulb on the output. The bulb
lights the same amount of room but does not strain the eyes when you
look at it.

This means:

Initially each SEP is powered from its own battery source. A voltage of
15V or more enhances the cold current flow. There seems to be a
threshold of around 10V-11V for this. In practical terms this is 2x12V,
7Amp/Hour batteries connected in series providing 24V. 2 batteries per
SEP. Once you have everything going you can connect in parallel all
SEPS to the one battery set of 24V. Tuning is easier when you don't
have all the noise and cold current flows of all the SEPS feeding into
each other.

By changing the ratio and direction of magnetic fields generated by each
SEP, you can vary the nature of the output, between normal current and
cold current. ***Always have a load connected on your output as you
can measure low volts and low amps yet have massive amounts of light
coming from a set of 100W light bulbs.***

SAFETY:

If you bang-off (quick turn-off), the SEPS, and you are very, very
unlucky, you run the risk of an explosion.

Make sure all connections are well made and tight.




Use a good quality variable resistor to control current and to wind the
current down over a few seconds when you need to turn off the SEPS
and obviously to tune your SEPS.

Have a dead man's switch on your rotating circuit NOT on your SEPS.
You can kill the rotation pulses instantly without cause for concern. The
dead man's switch is not for explosions but for ether pulses that register
as pain, or unpleasant tingling, or heat. A deadman's foot pedal works
best. If you fall over, faint, trip, the rotating stops. Don't like what is
happening simply walk/run! away.

Now onto your actual question.
Assuming X = 3 inch giving 9 inch diameter coil.
For outer SEP, MAIN SEP

AWG 22

3 layers of around 100-110 turns.

Total turns 300-330.

2 amps max

Volts 24.

Amp turns of 600-660.

Watts = 40-50 watts.

Around 0.5 watts per square inch surface area heat wise.

Final amps after tuning up to 0.5 amps.

For inner SEP, CB SEP

4 layers of around 100-110 turns

Total turns 400-440.

2 amps max

Volts 24.

Amp turns of around 800-880

Around 0.5 watts per square inch surface area heat wise.

Final amps after tuning up to 0.4 amps.
>

>2. Referring again to the SEP and CB SEP cois, should the magnetic
>fields of both coils be exactly equal (and opposite) to eachother or is




>there any sort of radio of the magnitudes that we should observe?

If the inner SEP magnetic field is around 25% lower than the outer SEP,
and in opposition, you get mostly traditional current. Vary SEP currents
slowly to see what cold current you get.

>

>3. For the output winding, are there any constraints to the type or size
>of wire that we can use? Does it matter if solid or stranded wire is
>used? What is the relationship to the number of turns to the output V
>and | relationship?

No constraints as such. It needs to be able to carry the amps if you tune
for traditional current. Uninsulated wire is used for experimenting with
different modes of output. You can rewrap with insulated to add more
turns or create a custom coil based on your experimental results.

Uninsulated wire is used for a reason it gives options to configure the
output amps and volts. You can short the output leads and place a metal
copper ring on the top and bottom of the toroid and take output leads
from the top and bottom. This gives a different mix of current and cold
current. Or unshort the output leads, remove the metal rings and replace
with smaller metal plates placed at intervals in a ring on the top and
bottom. Or have no plates or rings and just use the output leads. You
can also angle the turns in which case the field generated by having a
load on the output will interact with the existing fields. This can create
very high currents and voltage if you get the angle right.

Add more turns to take off more power.
Increase rate of rotation to find next sweet spot up for more power.
The 9" will give at least 1.5KW

>

>4. In an earlier e-mail about your tetrahedral unit, you mentioned that
>square wave inputs cause a bit of hearing but sine wave inputs would
be

>ideal to allow the unit to run cool. Since we are pulsing with square
>waves for the current setup, will there be any hearing issues that have
>to be addressed like what Steven experienced?

>




No only to the extent of the output coil heating up if you configure for
traditional amps and volts, and your amps rating on your wire is too low
or wire has too high resistance.

Steven's devices had iron in them for delay timing purposes into bifilars.
The iron had eddy current problems. It would heat up and tuning would
go out.

>5. Are there any constraints on the orientation of the coil itself. |
>recall that Steven had an upside-down problem in his earlier units.
>Could you shed some more light on what that was all about?

There are no constraints. He had no all encompassing SEP so relied on
the natural underlying pattern of the ether (not the earth magnetic field).

When you flip it over the natural ether pattern stays the same but by
definition a clockwise spin is anticlockwise when you flip it over, which
totally destroys the ongoing patterns. The small magnets he placed on
some devices were very weak magnets to trigger hall sensors to turn the
charging circuit on. These weak magnets were not strong enough to
create a reference SEP.

Later devices used a main SEP but he then used feedback into the main
SEP whih caused positive feedback nightmares with ensuing
meltdowns.

The tetrahedral design has no main, all encompassing SEP, and also
stops if flipped over.

>

>6. I've finally had a chance to take the time to read more about the
>saturable inductor switches. It really is an awesome way to produce HV
>pulses without much fuss. | do have some questions to ask you
though.

>What did you guys use to make the cores for your inductors? |
remember

>reading in the patent that they used some kind of permeable tape that
>was wound over a plastic core. Is something like this available or could
>you point me to a source where | might get a core for this? Also, |
>noticed from reading the patent that the output pulse width and rise




>time seems to be determined by the saturable core properties rather
than

>the pulse circuit itself. How are you controlling the output pulse width
>of the saturable reactor? Did you have to use more than one or was a
>single core enough to produce the needed pulses?

>

>Thats all | have for now. Still trying to make sense of the output stage
>circuitry.

>

You buy the cores. Search on magnetic amplifier cores. Companies will
send you samples if you ask.

If everything is built to tight tolerances then all pulse widths are the same
and you have no need to delay any of the pulses. You just need the
shortest pulse width possible in order to save input energy. Width and
rise time are determined by the squareness of the hysterisis curve when
using one sat core. When using multiple sat cores it depends on the L/R
of each inductor wound on each successive core and added
capacitance. But yes the pulse width is fixed into the design. You can
see how it would be able to deal with feeding back of output that had
high current glitches and voltages.

You can use one sat core. You can improve the rise time, if needed, by
feeding the output from the sat core into a spark gap. It'll limit the max
frequency you can use though because of the trailing fall time.

The timing is nice to have on smaller units because it can really lower
your input power, increase your output power, keep output power stable,
and reduce noise in the output. It is not necessary if you build carefully.

This design has high voltage and low, low current; you could use
mosfets.

>@God Bless,
>Jason O
>




E-mail from Spherics to Tao April 14, 2008

Visual 2 is correct. It's like an extremely high frequency wavefront going
out in all directions. You can think of this as Tesla's radiant energy, or
think of them as patrticles that have both electric and magnetic properties
combined within the one particle. As they stream out they are
undeflected by anything, affect everything they touch, and reduce affect
according to inverse square of the distance from source. The magnetic
field, which is a pattern in the ether, of the SEP is altered as the wave
passes through. It creates ripples in the ether which because of the
existance of the SEP appear like ripples of electric and magnetic fields;
l.e. increases and decreases. As one pulse fires after the other, the
ripples interfere into a series of wavefronts that rotate round.

Outer SEP, CB SEP and CCU SEPS are on all the time, so the areas of
high and low magnetic fields are static, the pattern in the ether can be
thought of as static, even though in reality it's a complex repeating
pattern like a standing wave. The rotation of the ether pulses is what
sets up the rotation as per your buildethervisual.

By altering the SEPS you can have wavefront that move in opposition,
like your buildethervisual, or in the same direction. The different
combinations of wavefronts impinging on the wires on the inside and
outside vertical surfaces, gives different qualities of current. The
wavefronts can build in amplitude because of the presence of the SEPS,
and hence can hold high energy, which is why the SEPS shouldn't be
switched off quickly, as per reply to rosphere.

The FEMM diagram shows the right action of the fields. Not sure how
you're modelling the MAIN and CB SEP, it's hard to tell without knowing
the magnitudes of the fields.

You might need to model as one large coil and one small coil within it. If
you've modelled the two as 4 coils it'll be slightly off because inside of
coil is higher field than outside of coil.

Thanks, Peter.

>Hi Peter,
>




>| have some questions for you, but before | get into them | wanted
>

>to ask a very specific question that | have had on my mind. |
>realize that once we get more information from you, the answer to
>

>this question might become quite apparent, but | just wanted to
>take a guess at the answer either way, to see if | could see it

>'like you see it.'

>

>| have enclosed 2 images. One is a FEMM simulation(showing the B
>fields) of the Outer SEP, CB SEP, and inner SEPs(on the CCUs, only
>

>2 simulated due to the program's 2d nature). The other image shows
>

>two views of how | feel the ether pattern/rotation would be setup

>

>by the Outer SEP, CB SEP and inner SEPs. | am not showing or
>considering the ether waves from the ether wave generating brooks
>

>coils yet. | made many other images, but didn't want to send too
>many.

>

>S5S0, in your mind, is this the way that you see the Stable Ether
>Pattern being setup from all the SEPs combined?

>

>Mind you, this Stable Ether Pattern | show in the 3d image would
>be

>occurring directly in the area between the Outer and CB SEPs...

>

>|f this is the SEP that is setup, it certainly looks prime for
>rotating/vortexing.

>

>Thanks!

>Hi Peter,

>

>Had one more 'visuals' question for you.

>

>Concerning the ether wave generating coil(the brooks type coil in
>

>the layout you are giving us), when the ether waves are generated




>

>and move through the copper and expand outward, how are they doing
>

>S07?

>

>|f you could please look at the jpg and tell me if any of the

>three

>visuals come close to how you see the ether waves leaving the
>COpper.

>

>Thanks.

>

>PS - | happen to be watching the movie The Core tonight, when |
>came across a rather interesting scene in the movie where the
>scientist is trying to figure out how to cause a rotation/vortex

>in

>a ring with explosions. He came to the conclusions that you had to
>

>place and detonate multiple explosions in succession around the
>ring at key moments and that the explosions had to be placed at
>very key locations. Sounds a lot like what we are doing, no? |
>uploaded the clip to Google video, if you fancy a viewing, it is
>less than 1 minute long and rather entertaining.

>

>Here is the link to the video:
>http://video.google.com/videoplay?docid=4848287404401126535







E-mail from Spherics to Jason April 15, 2008, 4:23 AM

Re: More Questions

>Hi Peter,

>

>Thanks again for your very detailed reply to my questions. It has
>cleared up a lot more things for me. Below | have some questions and
>comments from your letter.

>> The cold electricity on hitting the plate has a charging effect. The
amount of equivalent charge that appears on the plate is dependant on
dimensions of the plate and insulation on the wire. Neither of the former
we can easily control with off the shelf parts unless you like to make
your own capacitors/batteries. But in a SEP coil which is connected to
the battery we have both positve and negative plates. This means we
get a flow through the coil of cold electricity. This has three effects. The
coil remains cooler than expected for the normal current flow; the battery
charges up to some extent; and we believe the magnetic SEP pattern
changes in a subtle way, due to this cold current flow, because the
nature of the current output changes. The nature of the output can be
seen in a incadescent bulb on the output. The bulb lights the same
amount of room but does not strain the eyes when you look at it.

>Now this is VERY Interesting! This sounds very close to some
experiments

>that | have done, which seem to show similar effects. | sent an e-mail
>to my friend James about this a few months ago and attached it to this
>e-mail so you can see. The attached file contains some pictures and a
>diagram of the setup | was testing.

--->Attachment is missing. Can you send again. thanks.

>

>> By changing the ratio and direction of magnetic fields generated by
each SEP, you can vary the nature of the output, between normal
current and cold current. ***Always have a load connected on your
output as you can measure low volts and low amps yet have massive
amounts of light coming from a set of 100W light bulbs.***

>>

>Now this brings up an interesting question. | plan on measuring the
>output voltage with my controller circuit so that | can monitor the




>output from the coil and automatically correct the input frequencies to
>keep the output at a stable voltage. In your experience with the cold
>electrical output, have you found any good methods for accurately
>measuring the true power output of the setup? If a meter measures a
lot

>less voltage and current, the controller may mistakenly assume that the
>power output is low and try to correct for this.... and I'm guessing

>that could get ugly real quick...

---->> By not feeding-back real output current back into the SEPS or the
CCU coils the output is relatively stable; for the time of day. It's not
stable as in a regulated supply but it's good to within 5%. Output voltage
also varies +- 5% by time of day for some reason. | don't use any form of
feedback but | do have an overheat cutoff that turns off the rotating.

To detect cold current look for a small over voltage on the batteries. It
doesn't seem to cause a surge in over volts. We haven't been able to
work out any method of detecting raw cold current flow other than it will
light light bulbs and charge caps and batteries, which are all secondary
events.

>> Now onto your actual question.

>>

>> Assuming X = 3 inch giving 9 inch diameter coil.

>>

>> For outer SEP, MAIN SEP

>>

>>AWG 22

>> 3 layers of around 100-110 turns.

>> Total turns 300-330.

>> 2 amps max

>> Volts 24.

>> Amp turns of 600-660.

>> Watts = 40-50 watts.

>> Around 0.5 watts per square inch surface area heat wise.

>>

>>

>OK;, thanks for these specs here. Regarding the bias field strength, |
>noticed that you are defining it in units of amp-turns. As | am not as
>intuitively familiar with this unit of measurement, would be it




>sufficient to measure the field strength in terms of gauss/Tesla?
>Assuming that the ultimate B field strength is held constant, | am
>wondering if we are free to vary the turn count and current input for
>the bias windings without affecting the performance of the device?

There is no magic in the SEP coils they have to be there to provide a
regular controllable magnetic field. The power you put into them and
what ratio and direction of magnetic fields you put into all three SEPS is
fully adjustable. The more power in general the larger the output voltage
and current. Cold current does appear to like higher resistance which
implies thin wires.

>

>> Add more turns to take off more power.

>> Increase rate of rotation to find next sweet spot up for more power.
>> The 9" will give at least 1.5KW

>>

>>

>WOW, I'll definitely have my Kill switch standing by for that one! By
>the way, which collector coil configuration did you use to get that much
>output?

--->Qutput wires shorted. Divided ring (small plates) top and bottom.
Take off from one plate on top and one plate on bottom.

>

>> You buy the cores. Search on magnetic amplifier cores. Companies
will send you samples if you ask.

>>

>| started looking around for companies that make these cores. | did see
>a few results but | have no idea what specs | should be looking for.
>Would you happen to have any recommendations for a specific core
we cam

>use and/or a preferred manufacturer?

It depends on what current level you want for saturation turn on. I'll dig
out some specs. and a manufacturer. | have a paper that explains the
math. I'll get that to you.




>> If everything is built to tight tolerances then all pulse widths are the
same and you have no need to delay any of the pulses. You just need
the shortest pulse width possible in order to save input energy. Width
and rise time are determined by the squareness of the hysterisis curve
when using one sat core. When using multiple sat cores it depends on
the L/R of each inductor wound on each successive core and added
capacitance. But yes the pulse width is fixed into the design. You can
see how it would be able to deal with feeding back of output that had
high current glitches and voltages.

>>

>0k would you mind elaborating on your comment about the pulses not
>needing to be delayed if the pulse widths are all the same? Are you
>saying that the pulses don't need to be applied 120 degrees out of
phase

>from eachother or just that you don't have to fine-tune the phase shift
>if the pulse widths are identical?

Sorry. 60 degrees out of phase if driving singly or 120 for an opposite
pair. the delay was for fine tuning the phase shift as per one of the
diagrams | sent.

>> The timing is nice to have on smaller units because it can really lower
your input power, increase your output power, keep output power stable,
and reduce noise in the output. It is not necessary if you build carefully.
>>

>0k, just to make sure I'm not getting things mixed up here; when you
>refer to the "timing" are you referring to the precisely controlled

>phase shifting of the pulses into the coil or the input pulse width from
>the controller?

You have your basic 120 degree or 60 degree phased as a given. All
pulses same time apart from the previous one. Fine-tuning or timing is
the delaying of a pulse by a very small percentage or extending the
pusle width of pulse by a small percentage.

If this "timing" is not used, what does that imply?

Less power output, more power input, more variance in the output
voltage.




>> This design has high voltage and low, low current; you could use
mosfets.

>>

>/ would certainly love to simply go with an all MOSFET design but
since

>you mentioned that the voltage requirements go up to 1200V, that
would

>be very difficult to pull off with the 500V fets that | have been using.

>/ know that there are IGBTs that can go handle up to 1600V but they
are

>really huge and have slower switching times than regular MOSFETs as
far

>as | know. Or did you have an alternate purpose in mind? | suppose it
>would make a lot more sense if | better understood how you are
>connecting it all together. While researching the saturable reactor
>switches, | found that there were many different circuits for using
>them. I'm not sure what to do at this point, so I'll wait to hear more
>from you on the circuit design aspect.

>

Circuit guidance is coming...

>0Once again, thank you for your guidance :-) .
>

>@God Bless,

>Jason O

>

Secure E-mail from Spherics April 15, 2008, 7:46 AM

ref pdf docs
These are all pdf. File type still gets lost but files seem to be OK.

Useful reference tech notes/papers on pulse gen.




Secure E-mail from Spherics April 16, 2008, 5:41 AM

General schematic
See attached diagrams all gifs so fix up the extension accordingly.

If you use a 1200V/1300V or 1400V cap there are a handful of mosfets
that could do the switching rated at 1500V. The current max should be
well below 50ma. Protection diodes should be used. The snubber is a
must; check out the tech sheet pdf on snubber calcs sent previously.

http://www.st.com/stonline/products/families/transistors/power mosfets/r
elated info/1500v series expansion.htm?wt.mc id=expr july 5 1500V
Mosfet%20

Phillip

(Attachments on next pages)




Figure 8 Inductor Current Growth

Steady State AMPS

across inductor.

AMPS rating of
CCU Brooks Coil.
i AT !ES-T ______ fin}c_
S lpreiiies Figure 9 Input Pulse without Load
constant L/R, and the /ess steep the current t-rise K t-fall
means a longer time until / \
{—pulse max must be smaller than / \
i-growiil max or ihe wire wiii bumn out. ide-
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i A
3. One of the conditions for an ether pulse/radiant ——
energy to emanate from the copper wire is the t - pulse max
T EMF after tir be
enough that the voltage drop across the coﬂ is
6. But if the input coils are not in the exact

with a rise tlme fast enough tha1 only ZOV in-

Anead TME accnre affar Hme ¢ rica tha
duced EMF occurs, after time t-rise, then the

voltage drop is 1480V This is a proxy method
for determining if your pulse and coil will
work together to create radiant energy. Adding
iron even though it increase inductance does
‘something’ to prevent the ether pulse from

happening.

4. Point 3 needs to occur repetitively where a
SEP has been set up. The longer the wire, the
more radiant energy is produced.

5. The period t-stable + t-fall represents wasted
energy as the ether pulse has already occurred.
t-stable can be zero.

position required then delaying the start of

t-rise and/or Pscjs-ndm_p tstable to generate

more ordinary magnetic field can improve

the level and stahilityv of the output for some

reason to do with coinciding mterference

moattarng 1n tha athae

Jpaiieiiis iil uic culel.

7. A straight up, straight down pulse with as

fast a rise and fall time as possible will cre-
ate plenty of output, even if coil placement
is not perfect.

8. Dumping a capacitor until empty will work

but at the expense of extending t-stable and
t-fall considerably and stressing the current
limits of the wire. Reducing capacitance
considerably will have a large effect on final
voltage achieved after t-rise making point 3
hard to achieve.




CCU SEP Control Circuit

The SEPS can pick up cold electricity

High Resistance

which seeks out vacuums (light bulb),
dielectrics and high resistance.

@ Cold Electricity Tap
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o
[
@ High Resistance
Incandescent V 120 Cold Electricity Tap

CCU SEPS in serial so cold current passes through all coils.

Only 1 CCU pulse coil - not shown in diagram (or two if pulsing in pairs) are pulsed.

The other coils pick up the ether pulses.

The transils are for grounding out very high voltage spikes which occur infrequently

but would damage the capacitor. The MOVs are for higher energy bursts which
sometime occurs.

The 'V with circles are voltmeters. Although the light bulbs look like they are short circuited
cold electricity will flow to them because of the vacuum of the bulb and the high resistance.
Cold Electricity will aiso flow to the capacitor where it converts back to a useful charge.

The light bulbs and capacitor are optional.

If cold electricity is happening it is possible to turn the current down and isolate the battery.
This kicks out the 30V MOVs and the whole circuit continue with voltage rising to 100V.

At this point there are two flow, cold current recharging and lighting bulbs and real current
powering the CCU SEPS.

This is a form of feedback but limited by the size of capacitor so care is required if choosing

to use the optional capacitor. There is no special volts or value for the capacitor. Polypropylene
motor start caps that don't use oil work well but the volts are typically in the 400s. The reason
not using oil is that exploding caps are nasty; exploding caps with oil are nastier.

The changeover manual switch is to swop over the North/South of the CCU SEPS.
DONT CHANGE WHILST DEVICE PULSES ARE SPINNING AND FIRST DISCHARGE CAPS.

Replicate the setup for the MAIN and CB SEPs.




AC HV Source
Resonant Modded
Flyback or the like

| CCU Pulsing |

U1

f T,

D1

—

C1 and C3 are sized so the amount of charge depleted after
each pulse is 1-2% of the capacitor size. This is so there

is insignificant voltage decay during the pulse AND therefore
maximum voltage until the end of the pulse.

The snubber circuit is important as the pulse is being
turned off during the largest di/dt of the inductor current
growth curve AND the capacitor is 99% fully charged.

D5

A —

D3
Coil High
Driving Low Side

D7
Coil L
Choose to drive all brooks coils Dz:.ringv:ligh Side

either on the low or the hide side
not a mixture of both.




